NEW CMA PART 2 – Monte Carlo experiment
Janet Jones, an analyst with All Purpose Heater Company, plans to use a Monte Carlo

experiment to estimate the simulated daily demand for All Purpose’s heaters. The

probability distribution for the daily demand for heaters is as follows.

	Daily Demand
	Probability
	Random number

	for heaters
	 
	intervals

	0
	0.1
	00-09

	1
	0.15
	10-24

	2
	0.2
	25-44

	3
	0.2
	45-64

	4
	0.25
	 

	5
	0.1
	 


Jones is trying to assign random number intervals for each of the demand levels. She has

done so for the first four levels. If a total of 100 two-digit numbers are used in a simulation, what random number intervals should Jones assign to the 4 and 5 heaters

demand levels, respectively?

a. 65-69; 70-88.

b. 65-84; 85-99.

c. 65-84; 85-99.
d. 65-89; 90-99.

The correct answer is : d. 65-89; 90-99.

Please anyone help me solve this problem.

NEW CMA PART 2 – Simulation problem
Logan Corporation, located in Boston, has experienced major distribution problems in

supplying key Los Angeles-based customers. Delivery times have been as follows over

the last four months.

	Delivery Time 
	Number of Times

	in Days 
	Occurring

	5
	12

	6
	18

	7
	15

	8
	9

	9
	6


The company’s marketing manager wants to simulate the distribution process by

assigning random numbers to delivery times and to other random variables. If the

marketing manager uses 100 different random numbers to simulate the process, an

appropriate assignment of random numbers to a 6-day delivery time would be

a. 09-14.

b. 30-60.

c. 45-74.

d. 00-

Correct answer: c. 45-74.

NEW CMA PART 2 – Sensivity question
Susan Hines has developed an estimate of the earnings per share for her firm for the next

year using the following parameters.

Sales $20 million

Cost of goods sold 70% of sales

General & administrative expenses $300,000

Selling expense $100,000 plus 10% of sales

Debt outstanding $5 million @ 8% interest rate

Effective tax rate 35%

Common shares outstanding 2 million

She is now interested in the sensitivity of earnings per share to sales forecast changes. A

10% sales increase would increase earnings per share by

a. 7.0 cents per share.

b. 10.4 cents per share.

c. 13.0 cents per share.

d. 20.0 cents per share.

Correct Answer : 13.0 cents per share.

My Answer : 

	
	
	
	$ in million
	
	

	
	
	
	
	
	
	

	
	
	
	OLD
	CHANGED
	
	

	Sales
	
	
	20
	21
	
	

	COGS
	
	
	-14
	-14.7
	
	

	
	
	
	-0.3
	-0.3
	
	

	
	
	
	-0.3
	0.31
	
	

	
	
	
	-0.26
	-0.26
	
	

	Total
	
	
	5.14
	6.05
	
	

	
	
	
	
	
	
	

	EPS
	
	
	2.57
	2.715
	
	

	
	
	
	
	
	
	

	Difference in EPS
	
	0.145
	 i.e 14.5 cents per share

	
	
	
	
	
	
	


Where have I gone wrong?

